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Obtain the Fourier transform of
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What is the Fourier transform of the following function?
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If the Fourier transform of f(f) is
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what is the Fourier transform of (0.5t + 1)?
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Question 4 Obtain Y(w) if
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y'(t) = 28'(£) — 6(t+ 1)+ 8(E— 1)
Marked out of 1.00

) Select one:
v Flag question
2
a. — oS w g
13 Edit question o2 (cosw +w)
2
b. — —(cosw — w)
W
i2
c —;—,{hmu +w)
Y
(e
2, .
d. —(sinw — w)
w?
Question 3 What is the second order derivative of the following function?
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Select one:

a. f"(t) = 2[6'(t) — 6(t — 1) + &(t — 2)]
b. f*(t) = 2[~d(t — 1) + d(t — 2)]

c. f'(t) = 2[6(t — 1) — §(t — 2)]

d. f(t) = 2[—&"(t) + 8(t — 1) — 8(t — 2)]

Question 6 Calculate the inverse Fourier transform of
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a. d(t) + 5e 101
b. 56(t) — e 101
c. 8(t) — He 10l
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Obtain g(?) if
j2w

Select one:
a. g(t) = e " (2 cos 2t + sin 2t )u(t)
b. g(t) = e *(cos 2t — 2sin 2t)u(t)
c.g(t) = e "(cos2t + 2sin 2t )u(t)
d. g(t) = e (2 cos 2t — sin 2t )u(t)

For the following circuit, compute v,(f) if the input voltage is given as
v(t) = sgn(t) V.
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Select one:
a. v,(t) = 2sgn(t) + e ul(t) v
b. v, (t) = sgu(t) + 2" u(t) V
C.up(t) = 2(1 —e " u(t) -1V
dv,(t)=(1—e u(t) =1V

The current source in the following circuit is given as
i(t) = || A

Obtain the output current j (?).

{ i(1)

i(t). §2Q ng



https://kalam.ump.edu.my/question/question.php?cmid=80282&returnurl=%2Fmod%2Fquiz%2Fattempt.php%3Fattempt%3D167621%23q6&id=9202
https://kalam.ump.edu.my/question/question.php?cmid=80282&returnurl=%2Fmod%2Fquiz%2Fattempt.php%3Fattempt%3D167621%23q7&id=9201
https://kalam.ump.edu.my/question/question.php?cmid=80282&returnurl=%2Fmod%2Fquiz%2Fattempt.php%3Fattempt%3D167621%23q8&id=9200
https://kalam.ump.edu.my/question/question.php?cmid=80282&returnurl=%2Fmod%2Fquiz%2Fattempt.php%3Fattempt%3D167621%23q9&id=9199

Select one:
a.i,(t) = 26(t) + e > u(t) A
b. i, (t) = |t| — 0.5sgn(t) + e u(t) A
C.iglt) = d(t) + 2sgn(t) — ¢ wu{!}l A

d.ig(t) = [t + (1 + e~ *)u(t) A

Question 10 The Fourier transform of the current flows through a 10 Q resistor is
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Find the total energy dissipated in the resistor.
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